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21. It is sometimes necessary for Peter .................. his parent's car before they give him any pocket money.

1) to clean 2) cleaning 3) cleans 4) cleaned

22. He asked me ........cccueee. we would be coming to the party.

1) as 2) whether 3) since 4) because

X T we grow older, our bodies become less efficient at burning up calories.

1) Since 2) Although 3) While 4) As

24, BY .ecevrercsnerenes your work systematically, you can save a lot of time and energy.

1) to organize 2) organize 3) organizes 4) organizing

25. The janitor was forced .................. the doors open.

1) to leave 2) leave 3) left 4) leaves

26. Professor Baker ..................

1) let us write a paper instead of taking a final exam

2) let us to write a paper instead of taking a final exam

3) let us write a paper instead of take a final exam

4) let us write a paper instead of to take a final exam

27. A computer does all the tasks by .................. of processing the information.

1) tools 2) devices 3) means 4) phases

28. When you travel, you should put your computer in a special case to .........cceeueee. it from damage.

1) protect 2) distract 3) instruct 4) evaluate

29. Doctors believe that .................. to the head can be more dangerous than the other organs.

1) activity 2) energy 3) quality 4) injury

30. The journey ............c..... takes about two hours, so I usually amuse myself with reading papers.

1) previously 2) publicly 3) normally 4) firmly

31. The committee discussed several .........cceeue. of the traffic problems.

1) aspects 2) skills 3) senses 4) gestures

Most slang words are used more in speaking than in writing. For this reason, few of them can be found in dictionaries

......... (12)......... , slang words are among those used most often. Slang words .........(13)......... by some groups such as

workers, students, and musicians. they are used to ......... (14)......... a new object, idea or ......... (15)......... At first only

the members of the .......... (16)........ groups understand the slang words. Later, some of the slang words are used by

other people .

32. 1) However 2) Even though 3) Although 4) Unless

33. 1) are performed by 2) are written for 3) are made up 4) are awarded to

34. 1) describe 2) provide 3) survive 4) operate

35. 1) mission 2) experience 3) experiment 4) instrument

36. 1) regular 2) special 3) natural 4) fashionable

Some children require programmers of special education and may have to attend special schools, what is taught and
how it is taught is different from what is available in regular schools. There are different types of special schools. Special
schools exist for children who are deaf (or partially deaf); for the blind (or partially visually handicapped); for mentally
retarded children; for physically handicapped children; and for children with behavioral problems. In some countries
there are also schools for clever children, those who are either exceptionally intelligent or artistically or musically
talented.

In Western Europe and the United States, the first programmers of special education were developed during the late
18th centuries, but were not widely available These schools were residential (boarding) establishments, and were often
in the countryside. This meant that children who attended them rarely mixed with other children.




37. According to the passage, which of the following is NOT true?

1) There are some schools for specially clever children all over the world.

2) There are some children who need to go special schools.

3) The method of teaching id different in the two kinds of schools.

4) What is taught in special schools is different from that of regular schools.

38. According to the passage, special education in the west is for .................. .

1) deaf and blind children 2) children who have, artistic and musical abilities

3) handicapped or talented children 4) children who have mental and behavioral problem

39. Which one is NOT a feature of special schools?

1) They were boarding schools. 2) They were often in the countryside.
3) Children is such schools were rarely in contact with other children.  4) Everybody had access to them.
40. The first paragraph is mainly about .................. .

1) special schools 2) the users of special education
3) school programmers 4) deaf and blind students
41. The first programmers of special education in the west .................. .

1) were developed outside the United States 2) lasted for 100 years

3) began in the second half of the 18th century 4) were free for most people to benefit from

The day after Thanksgiving is the start of the holiday shopping season. Thanksgiving is always on a Thursday, so the
day after is a Friday. This day has come to be known as Black Friday. It has been the busiest shopping day of the year
since 2005.

Most stores offer great deals on Black Friday. They open their doors in the early hours of the morning. They try to
attract shoppers with big discounts. Some items like TVs are much cheaper than usual. Stores may even lose money on
these items. They hope that shoppers will buy gifts for other people while they are in the store.

Black Friday is a great time to get good deals. The problem is that there are not enough low-priced items to go
around. Each store may only have a few. These items are in high demand. People stand in long lines to get such great
deals. They may line up hours before a store opens. They may be hoping to get a low price on a TV or laptop, but not
everyone who wants one will get one. Some people leave disappointed.

The situation can be tense. Some Black Friday events have been violent. Large, eager crowds have trampled workers.
Fights have broken out over toys or people cutting in line. People have shot one another over parking spots. But most
Black Friday events are safe and fun. Still, if you plan on going, expect large crowds and a bit of pushing.

So where does the name "Black Friday" come from? It was first used in Philadelphia in the 1950s. The police called
this day Black Friday because of the heavy traffic it drew. In the 1960s, stores tried to rename the day "Big Friday." It
did not stick. The name "Black Friday" continued to spread across the country. It seems that it is here to stay.

42. According to the text, why do stores set prices so low on some items that they lose money?
1) They want people to enjoy the holidays.
2) They hope people will buy other gifts while they are in the store.
3) They are in a giving mood because the holiday season is just beginning.
4) They are trying to get rid of old items from last year to make room for new items.
43. Which is NOT true about Black Friday?
1) Black Friday is always the day after Thanksgiving.
2) Black Friday is the busiest shopping day of the year.
3) Black Friday is a national holiday.
4) Black Friday is the start of the holiday shopping season.
44. Where does the name Black Friday come from?
1) The police called this day Black Friday because there is a lot of traffic.
2) The stores called this day Black Friday because it is a serious shopping day.
3) The police called this day Black Friday to remember the victims of violence.
4) The stores called this day Black Friday because they make a lot of money.
45. Which was NOT mentioned as one of the negative points of Black Friday?
1) Stores run out of high demand items quickly.
2) Nobody really saves any money on Black Friday.
3) There are large crowds and lots of pushing.
4) Sometimes violence occurs at Black Friday events.
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